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Practice Session 1


Part A

The United Nations Population Division provides the following information for Jordan:

	[bookmark: OLE_LINK1]Population size (in thousands) for both sexes combined on 1/1/2005
	5 342

	Population size (in thousands) for both sexes combined on 1/1/ 2010
	6 187

	Births per year (in thousands) for both sexes combined, period 1/1/2005-1/1/2010
	152

	Deaths per year (in thousands) for both sexes combined, period 1/1/2005-1/1/2010
	23

	Deaths below age 1 per year (in thousands) for both sexes combined, period 1/1/2005-1/1/2010
	3



1)  Estimate the number of person-years lived in Jordan for the period 1/1/2005-1/1/2010.  Which assumption have you made?

2)  Using your estimate of person-years calculated in (1), estimate the Crude Growth Rate (CGR), Crude Birth Rate (CBR), Crude Death Rate (CDR), and Crude Rate of Natural Increase (CRNI) for Jordan for the period 1/1/2005-1/1/2010.

3)  Estimate the number of net migrations (I-O) and the Crude Rate of Net Migration for this period.

4)  Calculate the mean annualized growth rate for this period.  Calculate the corresponding doubling time.

5)  Calculate the infant mortality rate (IMR) for Jordan for this period.



Part B

You are provided with male deaths and mid-year male populations by age for the U.S. and Russia in 2000.

1)  What is the crude death rate in each population?

2)  What are the age-specific death rates (ASDR) in each population?  Prepare a figure showing the age-specific death rates in these two countries.

3)  Calculate the proportionate age distribution in the U.S. and Russia.  Prepare a figure showing these two age distributions, using 5-year age groups throughout the distribution.

4)  Verify that the CDR in each country is also a weighted average of ASDRs, where the weights are the proportions of population by age.

